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VI Semester B.A./B.Sc. Examination, April/May 2018
(Semester Scheme)
(CBCS) (Fresh + Repeaters) (2016 - 17 & Onwards)
ECONOMICS - Vil
Statistics for Economists (Optional)

Time : 3 Hours Max. Marks : 100

Instructions : a) Answer must be cbmp:’etefy either in Kannada or English.
b) Answer should be precise.
¢) Answers of Part A should be continuous.

PART — A

1. Answer any 10 sub questions. Each question carries 2 marks. (10x2=20)
a) TRPAE o8 LoInvb BFY O Sectd os BoINL 20TTER2 7 L
What are primary and secondary data 7 -
b) Rots Sesmrsg oTERd ?
What is bar diagram ?
C) FeoRyeon TS0 JRTIATIY, Bx0R.
Name the measures of central tendency.
d) 39n3 TeR0TE DT WYY BTT THFHV0T Bor308EB00.
Calculate range and its co-efficient from the data given below :
3,7,20,15, 6.
e) o Feedod DFned e ?
What are the components of time series ?
f) 3¢N3 Degosnent @ogE SoRLECRD.
Calculate median for the following data :
2,5,8,10, 12, 15.
Q) TR FBROLOT OB ?

What is positive correlation ?
P.T.O.
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h) a0k Feedond QFERBODY WORRI AoERO @@dﬁa’g‘ Mﬁ%ﬁ u@ﬁe:arb_a:aﬁ?
What for, we use moving average method in time series analysis ?

i) &ordes oty ?
What is regression ?

) BT &) Wiy 8203 FRAF 9
Distinguish between median and quartiles ?

k) ax=o°C=o R s ®eg, wdos0.
Write the equation for Fisher's index number.

) SRS 20wTe 9
What is sampling ?

PART - B
Answer any four of the following. Each question carries 5 marks. (4x5=20)
- 2. %ne R0a0, Geednt AoV Hoao FomiEeEows.

Calculate simple arithmetic average for the following data :
20, 28, 34, 39, 42, 50, 53, 54, 59, 64, 72, 76, 79, 80

3. NS Fpmerd Rosos, B esdnt 13Bozr s Do DL T3 MOF0T FormdBBD.
Find quartile deviation and its coefficient for the following discrete series

X |20125|30[35]|40 (45| 50
f |3 [61[132|153[140| 51 | 3

4. IS B oIreor e BTG 139253 ZoaRD BoBEBNS,
Compute three years moving average from the following data :

Year

Sedle 201012011 (2012 (2013 | 2014 | 2015 | 2016
Production

ema%dﬁ 21 22 23 25 24 26 27
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5. 39NS TSN BOE 20T HT BT FBR0wW0E MIFE0T FoBIkE0.
Calculate Karl Pearson’s coefficient of correlation for the following data :

v a1 81 2 A BBl bl 3 Laul ]
y1518141311121089

6. 3¢S T oZrER 0308 LBV ForEEBEOWD.
For the following data, calculate standard deviation

X | 10| 1551 20: |25 [/30 |85 | 40
F| 6| 4([8]7 5| 6 | 10

7. A® ROWCT BB %0B30SNY JEoRT aj@ﬁﬁ#dg{ &R
Bring out the differences between correlation and regression.

8. $9n3 Teosnen wEWEnes FooR D FoRELE0D.
For the following data find the mean deviation from mode.

[x [10-] 20 [ 30 | 40 | 50 | 60
fl8 |16[12]20] 4| 4

PART -C

Answer any four of the following. Each question carries 15 marks. (4x15=60)

0. #ine cimoditent sl arderRons, B0 RO, s i waEned TR0

Calculate the mean deviation from Mean, Median and Mode for the following
data.

Size 0-10 |10-20|20-30|30—-40|40-50 50 - 60 |60 -70
Frequency 3 8 15 20 25 10 9

10. ¥nT TSYoINeR 8O, SN 2RSS aews 2018 § IS R, FoTRTOND.
Compute the trend values for the following data using method of least square.

X 2011 2012 | 2013 | 2014 | 20156 | 2016
Y 5 10 16 18 19 20
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il {8

12.

13.

N0

NS BT A T8 B w0, BFND Clalprna ) TES LoENYR), VY TRROYT.
s DEREF ©08rva BEcRT0Y, A0E BRoRWE ST FORBROW0.
Following are the marks scored by two students A and B in economics. Find

who is more consistent in obtaining marks.

A

50

50

70

40

30

60

30

90

70

80

60

50

FINS wAY, orderod 20 Jesdnem Somdteo0. X on Y FB Y on X e
RDRCWOT MOFCT FoBGR0D.
Calculate the two lines of regression for the following data and also correlation

co-efficient.
X|10]|16 |14 |12 | 8
Y| B 8 | 10| 4 g

3PS WA, $WOT AR Wk BB By Jere AL osNVED FomoEROND. BT
P38 3B T SootibNabaE Bode enne®) B gy TRZT 0T WO

For the following data calculate both price and quantity index numbers by
Fisher's method. Test its reliability with the help of the factor and time reversal

tests.
Base Year | Current Year
ltems

P, q, P, q,
A 6 50 10 56
B 2 100 2 120
C 4 60 6 60
D 10 30 12 24
E 8 40 12 36




